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G1-7 Ng N Ny Ns
A Ng Mo Ns Ng A Na Mo Ns Ng
B B

1.0000 1.0000 1.0000 1.0000 1.0000 0.1739 1.916 0.6059 0.8614 0.8566
0.9623 1.013 0.9873 0.9999 0.9999 0.1603 1.979 0.5938 0.8504 0.8451
0.9240 1.027 0.9472 0.9997 0.9997 0.1462 2.053 0.5808 0.8386 0.8320
0.8852 1.042 0.9606 0.9992 0.9992 0.1317 2141 0.5665 0.8246 0.8168
0.8459 1.058 0.9465 0.9985 0.9985 0.1166 2.248 0.5505 0.8082 0.7990
0.8059 1.076 0.9318 0.9974 0.9974 0.1010 2.381 0.5325 0.7887 0.7775
0.7652 1.095 0. 9165 0.9960 0.9960 0.09287 2.463 0.5224 0.7774 0.7650
0.7238 1117 0.9005 0.9942 0.9942 0.08456 2.557 0.5114 0.7647 0.7509
0.6816 1.141 0.8837 0.9919 0.9919 0.07600 2.669 0.4993 0.7504 0.7349
0.6384 1.168 0.8660 0.9890 0.9889 0.06715 2.805 0.4858 0.7338 0.7163
0.5942 1.198 0.8472 0.9853 0.9852 0.05797 2.975 0.4704 0.7144 0.6943
0.5489 1.233 0.8271 0.9805 0.9804 0.04838 3.199 0.4524 0.6909 0.6675
0.5022 1.274 0.8056 0.9746 0.9744 0.04639 3.253 0.4484 0.6856 0.6613
0.4540 1.322 0.7822 0.9669 0.9667 0.04439 3311 0.4442 0.6799 0.6549
0.4040 1.381 0.7565 0.9571 0.9566 0.04237 3.373 0.4398 0.6740 0.6481
0.3518 1.456 0.7278 0.9440 0.9432 0.04032 3.441 0.4352 0.6678 0.6409
0.3410 1.473 0.7216 0.9409 0.9400 0.03823 3.514 0.4304 0.6612 0.6333
0.3301 1.491 0.7152 0.9376 0.9366 0.03613 3.594 0.4253 0.6542 0.6251
0.3191 1511 0.7086 0.9340 0.9329 0.03400 3.683 0.4199 0.6467 0.6164
0.3080 1.532 0.7019 0.9302 0.9290 0.03183 3.781 0.4142 0.6387 0.6071
0.2967 1.554 0.6949 0.9262 0.9248 0.02962 3.890 0.4080 0.6300 0.5970
0.2853 1.578 0.6876 0.9219 0.9203 0.02737 4.014 0.4014 0.6206 0.5860
0.2738 1.603 0.6801 0.9172 0.9155 0.02508 4.156 0.3942 0.6104 0.5741
0.2620 1.631 0.6723 0.9121 0.9102 0.02273 4.320 0.3864 0.5990 0.5608
0.2501 1.660 0.6642 0.9067 0.9045 0.02033 4515 0.3777 0.5864 0.5460
0.2380 1.693 0.6557 0.9008 0.8983 0.01787 4.750 0.3680 0.5721 0.5292
0.2257 1.729 0.6468 0.8944 0.8916 0.01533 5.046 0.3568 0.5555 0.5096
0.2132 1.768 0.6374 0.8873 0.8841 0.01269 5.432 0.3436 0.5358 0.4864
0.2004 1.812 0.6276 0.8766 0.8759 0.009934 5.976 0.3273 0.5112 0.4574
0.1873 1.861 0.6171 0.8710 0.8668 0.007018 6.837 0.3058 0.4783 0.4186

0.003850 8.609 0.2722 0.4267 0.3579




